Tabdbauna Kaan

Cocrasuts Tabaumy Kamu crpykrypsr (X, %), 3a1aHHO Ha MHOYKECTBE Tap To =

(O>0)a T =
nap a = (a1, as) u b = (by, by).

(0,1), 23 = (1,0), 3 = (1,1). Yka3aHO TPaBUIO NI YMHOMKEHHS

3agagya Dm3.1. Ananacesuy 3amaya Dm3.2. Bazamamos 3amada Dm3.3. Baacos

Usan Tacan Baadumup

a*b= (lay — 1|bz, a1by) a*b= (arby, asb) a*b= (azby,|a; — baf)
3amaua Dm3.6. Letinexo

3agaga Dm3.4.
Baaducaas

axb= (lay — by, [az — b1])

Iepsaanvd

3amaga Dm3.5. T'yoxos
Andpeti

axb= (lag — by, laras — b1ba|)

3amaga Dm3.7.
Anacmacusa Oaezo06Ha
a * b = (|CL2Z)1 — a1b2|, |albl —
azbs|)

3wni3a

Anacmacus
axb = (\alag — b1b2|, |a2b1 -

aybs|)

3amgaua Dm3.8. Kumadu Daue
Kambomba

axb = (|aiby —azbs|, |aib; —by|)

3amaua Dm3.9. Kysneyos

Baaducaas

axb= (|CL151 - bz|, |a2b2 - bl|)

3agmada Dm3.10. Maxcumosa

lapva
axb= (lasby — by|,|a1by — as|)

3agaga Dm3.11. Io200una
3osa Aaexceesra

a*xb= (|a1b1 — CLQ‘, ‘agbg — a1|)

3amaya Dm3.12.
Anexcandp
a *x b = (|agbg — 0,1|, a,lbg)

Ceausaros

3agaga Dm3.13.
Jlee Cepzeesuny

axb= (|a2 — 1‘()2,@1[)2)

Cypeyues

3agaya Dm3.14.
Cmanucaaes

axb= (|a1 — 1‘()1,@1()2)

Cyzanos

3agaua Dm3.15.
Mapeapuma

axb= (lag — 1|ba, |ay — ba|)

Tepexosa

3amada Dm3.16.
Baadumup

axb = (abi, |a1by — asbs|)

Yzraunos

3amaya Dm3.17.
Huxonati Uavuu
axb= (|albl — 0,2|, a,lbg)

HTunos

3amaga Dm3.18.
Baaducaas

axb= (a1bs, |a1by — as|)

Opxesuu

Dm3
OTBeThl.
Tadaumna Kaian
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